TWIST FLOWERS

SWATCH: S+23+23+5+S=53sts NEEDLES: #8 (5mm)

PATTERN 1: Multiple of 23 + 5 (20 rows) W3: (RSR) Lift 3" stitch on LHN backwards over
the first 2 stitches, left to right, K1, YO, K1.
(On next WSR) Purl the 3 stitches

ROW
S, * P1, K3, P1, [YO, K4, SSK, K6, K2tog, K4, YO*] ; rep *to *, end P1,K3,P1,S

S, K1, P3, K1, [*P1, YO, P4, P2tog, P4, P2tog tbl, P4, YO, P1], K1, P3, K1* ; rep * to *, S
S, *P1, W3, P1, [K2, YO, K4, SSK, K2, K2tog, K4, YO, K2*] ; rep * to * ,end P1, W3, P1,S
S, *K1, P3, K1, [P3, YO, P4, P2tog, P2tog tbl, P4, YO, P3], K1, P3,K1* ; rep *to *, S

S, *P1, K3, P1, [YO, K4, SSK, K6, K2tog, K4, YO*]; rep * to * , end P1, K3, P1, S

S, K1, P3, K1, [*P1, YO, P4, P2tog, P4, P2tog tbl, P4, YO, P1], K1, P3, K1* ; rep *to *, S
S, *P1, W3, P1, [K2, YO, K4, SSK, K2, K2tog, K4, YO, K2*]; rep * to * ; end P1, W3, P1, S
S, K1, P3, K1, [*P3, YO, P4, P2tog, P2tog tbl, P4, YO, P3], K1, P3,K1* ;rep *to *, S
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S, *P1, K3, P1, [YO, K4, SSK, K6, K2tog, K4, YO*] ; rep * to *, end P1,K3,P1,S
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S, K1, P3, K1, [*P1, YO, P4, P2tog, P4, P2tog tbl, P4, YO, P1], K1, P3, K1* ; rep *to *, S
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S, *P1, W3, P1, [K2, YO, K4, SSK, K2, K2tog, K4, YO, K2*] ; rep * to *, P1, W3, P1, S
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S, K1, P3, K1, [*P3, YO, P4, P2tog, P2tog tbl, P4, YO, P3], K1, P3,K1* ;rep *to *, S
PATTERN STRUCTURE CHANGES FROM ROW 13-20

13. S, *P1, K3, P1, [P2, (K1 tbl, P1) 2x, K2tog, YO, P2, YO, SSK, (P1, K1 tbl) 2x, P2*] ; rep * to *,
end P1, K3, P1, S

14. S, K1, P3, K1, [*K2, (P1 tbl, K1) 2%, P2, K2, P2, (K1, P1 tbl) 2x, K2], K1, P3,K1*;rep *to *, S

15. S, *P1, W3, P1, [P2, (K1 tbl, P1) 2%, YO, SSK, P2, K2tog, YO, (P1, K1 tbl) 2x, P2*] ; rep * to *,
end P1, W3, P1

16. S, K1, P3, K1, [*K2, (P1 tbl, K1) 2%, P2, K2, P2, (K1, P1 tbl) 2x, K2, K1, P3, K1*}; rep *to *, S

17. S, *P1, K3, P1, [P2, (K1 tbl, P1) 2x, K2tog, YO, P2, YO, SSK, (P1, K1 tbl) 2x, P2*] ; rep * to *
end P1, K3, P1, S

18. S, K1, P3, K1, [*K2, (P1 tbl, K1) 2x, P2, K2, P2, (K1, P1tbl), 2x, K2] , K1, P3,K1*;rep *to *, S

19. S, *P1, W3, P1, [P2, (K1 tbl, P1) 2x, YO, SSK, P2, K2tog, YO, (P1, K1 tbl) 2x, P2*] ; rep * to *,
end P1, W3, P1,S

20. S,K1,P3,K1,[*K2, (P1tbl, K1) 2x, P2, K2, P2, (K1, P1 tbl) 2x, K2], K1, P3, K1* ; rep *to *, S



